
,ize;j fzpjk; 

rhu;G ,lg;ngau;r;rp 
rhu;G Ntfk; 
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1)  
xNu jpirapy; ,aq;Fk; ,U Nkhl;lhu; irf;fps;fs; Fwpj;j fzj;jpy; Xu; ,ilntspapy; 
cs;sNghJ gpd;dhy; nry;gtu; ,UtUf;Fkhd ,ilntsp Fiwe;J nry;Yk; NghJ 
Kd;dhy; nry;gtiu jhd; Ke;Jtijf; fzpj;jy;. 

eilKiw tho;f;ifapy; rhu;G ,lg;ngau;r;rp> rhu;G Ntfk; gad;gLk; re;ju;g;gq;fs; 

ck; 
xNu Neu;Nfhl;by; xd;wpd; gpd; xd;whf rPuhd Ntfq;fspy; 5ms-1 > 3ms-1 Ntfq;fSld; 
KiwNa ,aq;Fk; X,Y Mfpa egu;fSf;F ,ilapyhd J}uk; xU Fwpj;j fzj;jpy; 40M 
Mf ,Ug;gpd; X MdJ YI re;jpf;f vLf;Fk; Neuk; ahJ? 

 

 X  Y 

5ms-1 3ms-1 

t=0 t=0 

E G+kpapd; rl;lj;jpy; 

= 5ms-1   +   3ms-1 

= 2ms-1    

 

 X 

2ms-1 

Y G+kpapd; rl;lj;jpy; Y 

1s ,y; X MdJ Y rhu;ghf 2M J}uk; YI Nehf;fp ,aq;fp ,Ug;ghu;. 
 
mjhtJ X,Y ,w;fpilapyhd J}uk; 1s ,y; 2M My; FiwAk;. 
 
/ 40M Fiwa vLf;Fk; Neuk;  
 

= 20s 
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A 

C 

B 

glj;jpy; fhl;lg;gl;lthW xU tPjpapy; C,A,B thfdq;fs; ,aq;Fk; NghJ B MdJ A If; 
flg;gjw;F Kd; C MdJ AIf; flg;gjw;F C Mdtu; jd; Ntfj;ij mjpfupj;J AI 
flg;gij ePu; tPjpfspy; mtjhdpj;jpUg;gPu;. 

njhlu;G Ntff; Nfhl;ghl;ilg; gpuNahfpj;J Ntf Kf;Nfhzk; tiutjd; %yk; xU nghUs; 
njhlu;ghf kw;iwa nghUspd; Ntfj;ijf; fhZjy;. 

A,B,B vDk; ahNjDk; %d;W khl;Nlw;Wr; rl;lq;fSf;F ,ilapyhd rhu;G Ntff; 
Nfhl;ghL gpd;tUkhW mikAk;. 

Ntfk; vDk;NghJ gUkd;> jpiriaf; nfhz;bUg;gjhy; Nkw;Fwpj;j njhlu;gpy; 6 
fzpaq;fs; (3gUkd;> 3 jpirfs;) njhlu;GgLfpd;wd. ,jpy; VjhtJ 4 fzpaq;fs; njupAk; 
NghJ kw;iwa ,U fzpaq;fs; fhzf;$bajhf mikAk;. mtw;iwf; fPo;tUk; 

 
 

fg;gy; A MdJ 9kmh-1 vDk; rPuhd Ntfj;Jld; fpof;F Nehf;fp nry;fpwJ. ,d;Ndhu; 
fg;gy; B MdJ 12kmh-1 vDk; rPuhd Ntfj;Jld; tlf;F Nehf;fp nry;fpwJ. vdpy; A 

cjhuzk; 

,q;F A,B fg;gy;fspd; Gtp njhlu;ghd Ntfq;fs;> jpirfs; jug;gl;Ls;sd. ,tw;iwf; 
FwpaPl;by; Fwpg;gpd; 
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Nfl;fg;gl;l tpdh VB,A 
 
Nfl;fg;gl;l tpdhit vOthahff; nfhz;L rhu;G Ntff; Nfhl;ghl;il vOjpd; 

? = 12kmh-1 + 9kmh-1 

Ntf Kf;Nfhzk; tiutJ vt;thW 
 
NtfkhdJ gUkd;> jpir nfhz;l fhtpf;fzpak;. Ntfk; xd;iw Nfhl;Lj; Jz;lj;jhy; 
Fwpg;gjw;F gUkd;> jpir njupe;jpUj;jy; Ntz;Lk;. 
 
Kjy; 12kmh-1 or 9kmh-1 I tiue;J mLj;J kw;iwa Ntfj;ij tiuayhk;. 

N 

L 

M 

12 3 

9 

Ɵ 

12kmh-1, 9kmh-1 vd;gd KiwNa LM , MN My; gUkdpYk; 
jpirapYk; tifFwpg;gpd;  
 
LN MdJ gUkdpYk; jpirapYk; VB,A Ij; jUk;. 

Ɵ 

15kmh-1 

VB,A = . 
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25kmh-1 vDk; Ntfj;Jld; tlfpof;F jpiria Nehf;fp gazk; nra;Ak; ts;sk; xd;wpy; 
cs;s xUtu; tpkhdk; xd;W 50kmh-1 vDk; Ntfj;Jld; Nkw;F Nehf;fp nry;tjhf 
mtjhdpf;fpwhu;. tpkhdj;jpd; Ntfk; ahJ? 

cjhuzk; 2 

tpsf;fk; 
 
ts;sk; flypy; nry;Yk; NghJk; flypd; ,af;fk; gw;wp ,q;F tpgupf;fg;glhjjhy; fly; 
ePu; epiyahf cs;sJ vdf; fUj Ntz;Lk;. vdNt Gtpapd; khl;Nlw;Wr; rl;lk; MfNt 
fUjg;gLfpd;wJ. 
 
ts;sj;jpw;F Ntfk; cz;L ts;sj;jpy; ,Ug;gtNu tpkhdj;ij mtjhdpg;gjhy; mtu; 
mtjhdpf;Fk; tpkhdj;jpd; Ntfk; ts;sk; rhu;ghd Ntfk; MFk;. 
 
ts;sk; - B 

Ɵ 

25kmh-1 

VB,E = 

VA,B =          50 kmh-1 

VA,E =   ? 

 
 

fpof;Ff;F 300 tlf;fpy; ,Ue;J 6kmh-1 vd;Dk; Ntfj;Jld; fhw;W tPRk; xU jpdj;jpy;> 
kdpjndhUtd; njw;F Nehf;fp Jtpr;rf;fu tz;bapy; gazk; nra;fpwhu;. mtUf;F 
njw;Ff;F 300 fpof;fpypUe;J fhw;W tPRtjhfj; Njhd;WfpwJ. Jtpr;rf;fu tz;bapd; 

cjhuzk; 3 

jPu;T 
 
fhw;W - W Jtpr;rf;futz;b Xl;b - B Gtp - E vd;f 
KjyhtJ fl;lk;. 
 
v(W,E)=6kmh-1 

 

v(B,E)=    v0 

300 
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v(W,B) =                       

3
0

v1 

V0 vd;gJ Gtp njhlu;ghf irf;fpspd; NtfKk;> V1 vd;gJ Jtpr;rf;fu tz;b njhlu;ghf 
tspapd; NtfKk; MFk;. njhlu;G Ntff; Nfhl;ghl;bd; gb>  
 

v(W,B)=v(W,E) + v(E,B) 

=                                      
300 
6 

+    v0                                 

=  XY  +  YZ                             

=  XZ                      

=  YZ = 6 sec 600 = 6*2 = 12 

Jtpr;rf;fu tz;bapd; Ntfk; = 12kmh-1                    

,uz;lhtJ fl;lk; 
 
 ,q;F tspapd; Ntfk; khwhkypUg;gjhy; 

V(W,E) = 
300 6kmh-1  =  XY 

V(B,E) = 300 =  YZ 

V(W,B) =   ? 

njhlu;G Ntff; Nfhl;ghl;bd;gb 

V(W,B) =   V(W,E)  +  V(E,B) 

=  XY  +  YZ                             

=  XZ                      

Z 

X 

Y 

Vo 

V1 

300 

300 

Y 

300 

300 

6 

α 

12 

Y 

X 

Z 

300 
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ΔXYZ ,w;F Nfhird; #j;jpuj;ijg; gpuNahfpg;gjhy; 

XZ2 = XY2 + YZ2 + 2 * y.y2 cos * XŶZ 

= 62 + 122 - 2.6.12 cos 600 

= 36 + 144 - 72 

= 108 


